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17. In the multiple allele series C > Cch > Ch, dominance is from left to right as shown.
n a cross of CCch (phenotype is agouti) x CchCh (phenotype is chinchilla), what
proportion of the progeny will be Himalayan? (C = agouti, Cch = chinchilla, Ch =
Himalayan)

Many kinds of wild animals have the aggg_t_i coloring pattern in which each hair has
a yellow band around it. *

a. In black mice and other black animals, the yellow band is not present and the hair is
all black. This absence of wild agouti pattern is called nonagouti. When mice of a true-
breeding agouti line are crossed with nonagoutis, the F1 is all agouti and the F2hasa
3:1 ratio of agoutis to nonagoutis. Diagram this cross, letting A - agoutiand a =
nonagouti. Show the phenotypes and genotypes of the parents, their gametes, the F1,
their gametes and the F2.

b. Another inherited color deviation in mice substitutes brown for the black color in the
black agouti hair. Such brown-agouti mice are called cinnamons. When black mice are
crossed with cinnamons, the F1 is all black and the F2 has a 3:1 ratio of black to
cinnamon. Diagram this cross as in part a, letting B = black and b = cinnamon brown.




